88225 HERLE)
200~1000kN (R >U—X)

& = £ B E 7B 70MPa AT AR
5 PN H 7 | 200-300-500-1000kN R 2 (=110 VC
\ | |
1F 2 7 Eae HEI BALS HEHy TS
e — 2 : 200kN VC : VC-70-R3
vy - > 75 R FIER U 3: 300kN S: SR
_ - L 5 : 500kN T : ROC-13R
hy TS EHKEOR Rc3/8 10 : 1000kN -NC : Ay TSEL
o R R X kO—% (mm)
eEX N>, SUSAHFI-THEXAYFFE, HES 1S4
RIU—X
m R2-50VC m R2-10VC m R2-50VC - R3-50VC
oF BHREAY R/(—
H ﬁD H
' | Rc3/8 805 0
' VC-70-R3 f
b
A | A oD Rc3/8
‘ | 3 1 VC-70-R3
I 1 | {‘
; ‘ — -
#C u S ‘ — ?
e ul s
m R5-50VC m R10-50VC
oF FAAY B/ OF BRAW 17—
| FAAY R/—
] |
i | H |
| |
i) b
i Rc3/8 i
A | VC-70-R3 A ‘
#lc U S | Rc3/8
T | VC-70-R3
| ¢}c
I i =3 |
| 1 |
[ Kix:]
S R2-10 | R2-50 R3-50 R5-50 R10-50
= X it b2 kN 200 300 500 1000
= £ 1] & cm? 33.18 44.17 71.63 146.55
S U AP EREULUA kN =0.35 = 0.45 =0.75 =15
2 ~ o - 4 mm 10 50 50 50 50
= N =5 E A 72 127 134 151 183
> U > AR E ® 65 75 96 136.6
D2 R A N 3 o C 86 102 127 175
E 2 ~ > # ¢ D 57 66 89 115
~ANw R AN - ®F - 54 54 65 90
E X k>3 HE H 1 16 16 16 21
by VC-70-R3 = 46 = 46 = 46 = 46
W -
= W B S-1R S =53 =53 =53 =53
ROC-13R = 49 = 49 = 49 = 49
h oy J S I & T 25 25 26 25
R 2 E U 19 17 19 19 —
A B e = cm?® 34 166 221 359 733
Liiva i =1 = kg 3.3 5.1 7.5 13.0 30.0

X EERSVUIHICSUIBRTIYFAL MEBRDMHITDZEFTEEFEA.

24

cat-No.78B since2019





